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(Colourimetric scaling of achromatic colours between peak white and blacl Colourimetric scaling of achromatic colours between peak white and black.
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S = |(25:1=100:4) [(505=2,24|[cd/m?] =L/L g [=L/L w [Fewlay ¥3-16] =ty log(L 1, )+50 (25:1=100:4) |(5°5=2,24|=syy Loy V24 _|=LIL y|=L/Lw |=owl oy P5-16=tylog(L,p)+50 | Q@
_ § White P2 |500 1000 25 15,00 |182=50+132 [150=50+102 White P2 [500 195=50+145 |25 [5,00 [182=50+132 |150=50+102 -
g5 |tighy =20%25 |=40%25 =c(5,00§3-16=t log(25,00)+5 (light) =20%25 |=s(5,00424 =c(5,001-16=t l0g(25,00)+5¢ =
o3 \White W (fluo-[100 200 5 1,00 |100=50+50 [100=50+52 \White W (fluo-[100 100=50+50 |5 1,00 |100=50+50 [100=50+52 ing
2 recent paper) |=20*5  |=40*5 1,00§/3-16=t log(5,00)+50 recent paper) [=20*5  |=s(1,00§24 1,00§3-16=t log(5,00)+50| 2 =
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% (paper) =20%2,24 | =40*2,24 =t log(2,24)+50 (paper) =20%2,24 =t log(2,24)+50 =4 3
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(paper) 40*1 =t log(1,00)+50 (paper) =t log(1,00)+50 T
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(paper) =20/2,24 | 40/2,24 =t log(0,45)+50 (paper) =20/2,24 =t log(0,45)+50 =
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(paper) =20/5 40/5 0g(0,20)+50 (paper) =20/5 0,04}3-16=t log(0,20)+50 Q
Black P2 1,9 3,6 0,09 10,022 |1. —-24=50-72 Black P2 1,9 1 0,09 0,022 [14=50-35 |-24=50-72 (PI
(glossy paper)|=20/11,2 | 40/11,2 l0g(0,09)+50 (glossy paper)|=20/11,2 0 l0g(0,09)+50 3
Itis valid: CIELAByy: y=c=116, TUBLOGy: ty=t=50/log(5)=72 Itis valid: CIELAByy: y=c=116, IECSRGR: sy=s=100, TUBLOG: t,=t=50/log(5)=72
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TUB-test chart iea0; Colourimetric scaling of achromatic colours between white and black.
= Contrast W:N=100:4, P2:p2=1000:3,6; LrW, LrU. See ISO 22028-5, ITU-R BT.2390-10, sec
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